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Example 1: A long rectangular sheet of metal, 12 inches wide, is to be made into a
rain gutter by turning up two sides so that they are perpendicular to the sheet. How
many inches should be turned up to give the gutter its greatest capacity?
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Example 2: An open box with a rectangular bas 0 be t df m t gI piece of
cardboal d16 ches wide d21 h I gby tt g q and then b d ng
ph sulting sides. Fi dh square that W|IIp d b h ing the larges

pos: bI volume. i 2/ :z)(

T3

g Vlose
V- L (@had(x)
= (1l 20@N- 2
V' (lo-2 (- )
(2 | X/zér(l\f 2_\
- (2 ¢ L [dg d3b
0 e

Veluma_
ey

March 11, 2015



4.6 - Optimization Problems. - FILLED IN.notebook March 11, 2015

Exa mpl e 3: A circular cylindrical metal ¢ ner, p tth t op, is to hav p city of 2417 in®.
The cost of the m ater I df the bo tt m of the contai s 15 cents ersq e inch and that of
the ma t I sed for th ved pa rt 5 cents per squ iRet ere is no f material find
the dime s that will minimize the cost fth eria.
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Example 4: Find the maximum volume of a right circular cylinder that can be inscribed in a cone of
altitude 12 centimeters and base radius 4 centimeters, if the axes of the cylinder and cone coincide.
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Example 7: A wire 60 inches long is to be cut into two pieces. One of the pieces will be bent into
the shape of a circle and the other into the shape of an equilateral triangle. Where should the
wire be cut so that the sum of the areas of the circle and triangle is minimized? Maximized?

5 R o3 q\_\z 5
.
l




4.6 - Optimization Problems. - FILLED IN.notebook

AN

March 11, 2015

20-60- T0

22X

(0



4.6 - Optimization Problems. - FILLED IN.notebook




4.6 - Optimization Problems. - FILLED IN.notebook

A= 2nr 4 Z\“\v(%w%
Tip

M\we (wat\



	Page 1: Mar 1-7:37 AM
	Page 2: Mar 1-7:37 AM
	Page 3: Mar 1-7:37 AM
	Page 4: Mar 1-7:37 AM
	Page 5: Mar 1-7:37 AM
	Page 6: Mar 1-7:37 AM
	Page 7: Mar 10-9:28 AM
	Page 8: Mar 11-10:08 AM
	Page 9: Mar 11-10:13 AM

